

Tanner Burt
 Andy Chlebora
 Justin Ashler

M-Series for $\sin x$

$$\frac{f^n(0) x^n}{n!}$$

n	$f^n(x)$	$f^n(0)$
0	$\sin x$	0
1	$\cos x$	1
2	$-\sin x$	0
3	$-\cos x$	-1

$$\begin{aligned} \sin x &= 0 + x + 0 - \frac{x^3}{3!} + 0 + \frac{x^5}{5!} \\ &= \frac{x^1}{1!} - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} \dots \end{aligned}$$

0 1 2 3

$$\sum_{n=0}^{\infty} \frac{(-1)^{n+1} x^{2n+1}}{(2n+1)!}$$

M Series $(1+x)^{-3}$

n	$f^n(x)$	$f^n(0)$
0	$(1+x)^{-3}$	1^{-3}
1	$-3(1+x)^{-4}$	$-3 \cdot 1^{-4}$
2	$12(1+x)^{-5}$	$12 = 3 \cdot 4$
3	$-60(1+x)^{-6}$	$-60 = 3 \cdot 4 \cdot 5$
4	$360(1+x)^{-7}$	$360 = 3 \cdot 4 \cdot 5 \cdot 6$

$$(1+x)^{-3} = 1 - 3x + 12x^2 - 60x^3 + 360x^4 - \dots$$

0 1 2 3 4

$$\sum_{n=0}^{\infty} (-1)^n n(n+2)$$

$$\sum_{n=0}^{\infty} \frac{(-1)^n (n+2)!}{2!}$$

Adam B, Will R, Thomas S
4/9/14

Maclaurin series for $\sin x$.

n	$f^{(n)}(x)$	$f^{(n)}(0)$
0	$\sin x$	0
1	$\cos x$	1
2	$-\sin x$	0
3	$-\cos x$	-1

$$\begin{aligned}\sin x &= \frac{0}{0!} x^0 + \frac{1}{1!} x^1 + \frac{0}{2!} x^2 + \frac{-1}{3!} x^3 + \frac{1}{5!} x^5 + \frac{-1}{7!} x^7 \\ &= 0 + x + 0 - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots \\ &= x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n (x)^{2n+1}}{(2n+1)!}\end{aligned}$$

Maclaurin series for $\frac{1}{1-x}$

n	$f^{(n)}(x)$	$f^{(n)}(0)$
0	$(1-x)^{-1}$	1
1	$-(1-x)^{-2}$	-1
2	$2(1-x)^{-3}$	2
3	$-6(1-x)^{-4}$	-6
4	$24(1-x)^{-5}$	24

$$\begin{aligned}\frac{1}{1-x} &= \frac{1}{0!} x^0 + \frac{-1}{1!} x + \frac{2}{2!} x^2 + \frac{-6}{3!} x^3 + \frac{24}{4!} x^4 \\ &= 1 - x + x^2 - x^3 + x^4 \\ &= \sum_{n=0}^{\infty} (-1)^n x^n = \sum_{n=0}^{\infty} (-x)^n\end{aligned}$$